

Sri Eswar Enterprises MPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS
COMPUTER • SCIENTIFIC • TECHNICAL • MANAGEMENT
& LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017.
Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590
E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in
URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/139

Invoice Date

: 12-Oct-21 : By Hand Delivery

Shipment Mode :

NON-PLAN

Ship To

THE PRINCIPAL
DR.AMBEDKAR GOVT. ARTS COLLEGE
VYASARPADI

CHENNAI - 600 039

Notes

DR. S MANIVANNAN ASSISTANT PROFESSOR, DEPARTMENT

OF CHEMISTRY - MOB#9444626163

Bill To THE PRINCIPAL (EE/AMBED) DR.AMBEDKAR GOVT. ARTS COLLEGE VYASARPADI CHENNAI - 600 039

		CHENNAI - 00	0 039							
	SI No ISBN/Code	Title	Author	Qty	Curr	Price	Gross	Disc%	Disc Value	Value
7387		A Guidebook To Mechanism In Organic Chemistry 6/ed	SYKES	1	INR	709.00	709.00	15.00	106.35	602.65
7388		A TEXTBOOK OF POLYMER CHEMISTRY	BHATNAGAR	1	INR	600.00	600.00	15.00	90.00	510.00
7389	3 9788176710138	An Introduction To Electrochemistry	GLASSTONE	1	INR	295.00	295.00	15.00	44.25	250.75
7390	4 9788126519255	Chemical Applications Of Group Theory 3/ed	COTTON	1	INR	649.00	649.00	15.00	97.35	551.65
7391		Elementary Biochemistry (multi Colour Ed)	JAIN	1	INR	465.00	465.00	15.00	69.75	395.25
7392	9789351610656	Elements Of Analytical Chemistry	GOPALAN	1	INR	250.00	250.00	15.00	37.50	212.50
7393	7 9789332545076	Essentials of Analytical Chemistry	RAMAKRISHNAN	1	INR	509.00	509.00	15.00	76.35	432.65
7394	9788184873160	Essentials of Crystallography 2/ed	WAHAB	1	INR	395.00	395.00	15.00	59.25	335.75
T395	9789350246641	Organic Chemistry Of Natural Products V/1	CHATWAL	1	INR	675.00	675.00	15.00	101.25	573.75
7396	10 9788184881080	Organic Chemistry Of Natural Products V/2	CHATWAL	1	INR	675.00	675.00	15.00	101.25	573.75
7397	11 9789386418524	Organic Reactions Stereochemistry and Mechanism - Through	KALSI	1	INR	475.00	475.00	15.00	71.25	403.75
7398	12 9789353063627	Physical Chemistry Thermodynamics, Statistical Mechanics an	COOKSY	1	INR	629.00	629.00	15.00	94.35	534.65
7399	13 9780074639948	Polymer Science And Technology Plastics Rubbers Blends And	GHOSH	1	INR	495.00	495.00	15.00	74.25	420.75
7400	14 9789382956969	Principles of Inorganic Chemistry 33/ed	PURI	1	INR	770.00	770.00	15.00	115.50	654.50
7401	15 9789352837298	SATYA PRAKASHS MODERN INORGANIC CHEMISTRY LPS RE	MADAN	1	INR	625.00	625.00	15.00	93.75	531.25
74021	16 9788122440638	Spectroscopy of Organic Compounds 7/ed	KALSI	1	INR	450.00	450.00	15.00	67.50	382.50
7403 1	7 9789387788329	Stereochemistry Conformation and Mechanism 10ed	KALSI	1	INR	475.00	475.00	15.00	71.25	403.75
74041	8 9788180547928	Textbook Of Inorganic Chemistry	SONI	1	INR	800.00	800.00	15.00	120.00	680.00
74051	9 9788180547676	Textbook of Organic Chemistry	SONI	1	INR	795.00	795.00	15.00	119.25	675.75
74062	0 9788180545870	Textbook Of Physical Chemistry	SONI	1	INR	800.00	800.00	15.00	120.00	680.00



Sri Eswar Enterprises

IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS
COMPUTER • SCIENTIFIC • TECHNICAL • MANAGEMENT
& LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennal - 600 017.
Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590
E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in
URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/139

Invoice Date

: 12-Oct-21

Shipment Mode

: By Hand Delivery

Net Value

10000.00

27407

SI NO ISBN/Code	Title							
7 21 9788176710145	Thormodynamics F. Cl.	Author	Qty Curr	Price	Gross	Disc%	Disc Value	Value
E & OE	Thermodynamics For Chemists	GLASSTONE	1 INR	275.00	275.00	15.00	41.25	233.75
		Total	21		11811.00		1771.65	10039.35
						L	ess - Round Off	39.35

Received Rupees Ten Thousand Only.

for SRI ESWAR ENTERPRISES

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

- 1. Goods once sold cannot be taken back (or) exchange
- 2. All our transactions & invoices are subject to Madras Jurisdiction.
- 3. OUR PAN No: AGPPP4660C

The same addition of the same time the same time to be same to be

Checked By



Sri Eswar Enterprises

MPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS
COMPUTER - SCIENTIFIC - TECHNICAL - MANAGEMENT
& LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennal - 600 017.
Tel : 044 - 24345902, 24339591 Fax : 044 - 24339590
E-mail : yempeyes@gmail.com / yempeyes@md3.vsni.net.in
URL : http://www.eswar.com

NON-PLAN

Bill To

THE PRINCIPAL (EE/AMBED)
DR.AMBEDKAR GOVT. ARTS COLLEGE
VYASARPADI

CHENNAI - 600 039

Ship To

THE PRINCIPAL DR AMBEDIAR GOV

DR.AMBEDKAR GOVT, ARTS COLLEGE

PRE-RECEIPTED

INVOICE

VYASARPADI

CHENNAI - 600 039

Notes

Invoice No

Invoice Date

Shipment Mode

DEPT OF MATHS -KIND ATTN MS.THOULAKANAM SIR -

: EE/2021/CRB/168

: By Hand Delivery

: 23-Oct-21

MOB#9840827520

	CHENNAI - 600	0 039	TO SEE SHOW THE PARTY OF						
27408 SI No ISBN/Code	Title	Author	Qty	Curr	Price	Gross	Disc%	Disc Value	Value
-410 1 9789353433079	A Friendly Introduction To Number Theory 4/ed	SILVERMAN	3	INR	429.00	1287.00	15.00	193.05	1093.95
27411-2-12 9789353434182 27413-3-14 9781259064821	Algebra and Number theory Complex Analysis 3/ed	DAS	2	INR	479.00	958.00	15.00	143.70	814.30
		AHLFORS	2	INR	495.00	990.00	15.00	148.50	841.50
27446415 9788184495270	The Condition Eyes	HOFFMANN BALA	1	USD	18.95	1464.84	15.00	219.73	1245.11
27442-6-4449788121928052	Integral Equations And Boundary Value Problems	RAISINGHANIA	26	INR INR	120.00	3120.00	15.00	468.00	2652.00
27445-74489788183715430	Invitation to Graph Theory	ARUMUGAM	4	INR	299.00 150.00	897.00 600.00	15.00 15.00	134.55	762.45
27449-8-4529789332550070		HOFFMAN	4	INR	429.00	1716.00	15.00	90.00 257.40	510.00 1458.60
27453-94569788185015668	Mathematical Analysis 2e	APOSTOL	4	INR	470.00	1880.00	15.00	282.00	1598.00
	Mathematics For Economists	MEHTA .	2	INR	500.00	1000.00	15.00	150.00	850.00
27464-12-659788121914383	Methods Of Real Analysis Numerical Methods	GOLDBERG	5	INR	525.00	2625.00	15.00	393.75	2231.25
2746613 9788184870589	Topology Of Metric Spaces 2/ed	KANDASAMY	2	INR	425.00	850.00	15.00	127.50	722.50
E & OE	ropology of Ficure Spaces 2/eu	Total	1 50	INR	285.00	285.00	15.00	42.75	242.25
	1	iotai	59			17672.84		2650.93	15021.91

Received Rupees Fifteen Thousand Only.

for SRI ESWAR ENTERPRISES

Currency	Conv Rate
USD	77.3000

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

1. Goods once sold cannot be taken back (or) exchange

2. All our transactions & invoices are subject to Madras Jurisdiction.

3. OUR PAN No: AGPPP4660C

Less - Round Off

Net Value 15000.00

21.91

Packed By

Checked By



Sri Eswar Enterprises IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS
COMPUTER • SCIENTIFIC • TECHNICAL • MANAGEMENT
& LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017.
Tel : 044 - 24345902, 24339591 Fax : 044 - 24339590
E-mail : yempeyes@gmail.com / yempeyes@md3.vsnl.net.in
URL : http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No : EE/2021/CRB/169 Invoice Date : 23-Oct-21

Shipment Mode : By Hand Delivery

NON-PLAN

Bill To

THE PRINCIPAL (EE/AMBED)
DR.AMBEDKAR GOVT. ARTS COLLEGE
VYASARPADI

CHENNAI - 600 039

Ship To

THE PRINCIPAL

DR.AMBEDKAR GOVT. ARTS COLLEGE

VYASARPADI

CHENNAI - 600 039

Notes

KIND ATTN: O.S.BABU -LIBRARIAN (I/C) MOB#9840370180

	HENNAI - 600 039	CHENNAI - 600	0 039	1						
All the second s	SI No ISBN/Code	Title	Author	Qty	Curr	Price	Gross	Disc%	Disc Value	Value
274671	9789354601477	GENERAL STUDIES Paper I 2022 for Civil services Preliminary	MCGRAW HILL	1	INR	1595.00	1595.00	15.00	239.25	1355.75
274682		General Studies Paper II 2022 for Civil Services Preliminary Ex	MCGRAW HILL	1	INR	1045.00	1045.00	15.00	156.75	888.25
274693		Geography Of India 9e	MAJID	1	INR	745.00	745.00	15.00	111.75	633.25
274704		5 - 1 / C Cities of Free Free Hamilton & Exami		1	INR	305.00	305.00	15.00	45.75	259.25
274715	9789390727865	The services and outer competate L	SINGHANIA	1	INR	675.00	675.00	15.00	101.25	573.75
274726	9788174789013	Neengalum Oru I.P.S Athikari Akalam (tamil) W 269	SALENDRABABU	1	INR	250.00	250.00	15.00	37.50	212.50
274737		The second secon	N.A	1	INR	500.00	500.00	15.00	75.00	425.00
274748				1	INR	255.00	255.00	15.00	38.25	216.75
274759	9789390744756	The second of th	GUPTA	1	INR	680.00	680.00	15.00	102.00	578.00
274761		Objective English For Cometitive Examinations ED/ 7	THORPE	1	INR	695.00	695.00	15.00	104.25	590.75
274771		R GUPTAS Popular Master Guide UGC NET Computer Science		1	INR	640.00	640.00	15.00	96.00	544.00
274781		R. GUPTA JOINT CSIR UGC NET MATHEMATICAL SCIENCE PY		1	INR	440.00	440.00	15.00	66.00	374.00
274771	3 9/881/8125053	R.Guptas Cbse Ugc Net Economics Previous Years Papers (sol		1	INR	560.00	560.00	15.00	84.00	476.00
274801	4 DV 0131//8	SAKTHI TNPSC GROUP-I/II & II-A GENERAL STUDIES 6729 E	SAKTHI	1	INR	970.00	970.00	15.00	145.50	824.50
274811	5 9789389122183	Sakthis TNUSRB Police SUB INSPECTOR Exam	SAKTHI	1	INR	430.00	430.00	15.00	64.50	365.50
274821	6 9789390024292	TNPSC GROUP IV AND VAO CODE B554 - (ENGLISH MEDIUM)	SUBBURAJ	1	INR	790.00	790.00	15.00	118.50	671.50
2748317	7 9789387150683	TNPSC Group IV And VAO Code B639	SURA	1	INR	650.00	650.00	15.00	97.50	552.50
										332.30



Sri Eswar Enterprises IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

COMPUTER . SCIENTIFIC . TECHNICAL . MANAGEMENT & LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017. Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590 E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/169

Invoice Date

: 23-Oct-21

Shipment Mode

: By Hand Delivery

SI No ISBN/Code Title 484 18 9789387067554 World History For Chill Service 5	Author	Qty (Curr Price	Gross	Disc%	Disc Value	Value
18 9789387067554 World History For Civil Services Examinaions	REDDY	1	INR 540.00	540.00	15.00	81.00	459.00
1	Total	18		11765.00	L	1764.75 ess - Round Off	10000.25
Received Rupees Ten Thousand Only. 4	to the second second to the second to the second to a second to a second					Net Value	10000.00

for SRI ESWAR ENTERPRISES

Packed By

161 KI GOVERNOUS

Checked By

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

1. Goods once sold cannot be taken back (or) exchange

2. All our transactions & invoices are subject to Madras Jurisdiction.

3. OUR PAN No: AGPPP4660C



Sri Eswar Enterprises MPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

COMPUTER . SCIENTIFIC . TECHNICAL . MANAGEMENT & LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennal - 600 017. Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590 E-mail:yempeyes@gmail.com/yempeyes@md3.vsnl.net.in URL:http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/171

Invoice Date Shipment Mode

: 23-Oct-21 : By Hand Delivery

NON-PLAN

Bill To

THE PRINCIPAL (EE/AMBED) DR.AMBEDKAR GOVT. ARTS COLLEGE

VYASARPADI

CHENNAI - 600 039

Ship To

THE PRINCIPAL

DR.AMBEDKAR GOVT, ARTS COLLEGE

VYASARPADI

CHENNAI - 600 039

Notes

VISCOM - KIND ATTN: JEBAKUMAR # PH:9941019795

	SI No ISBN/Code	Title	Author	Qty	Curr	Price	Gross	Disc%	Disc Value	Value
274-85	1 9789387284548	3D Printing Made Simple	SARAS	1	INR	249.00	249.00	15.00	37.35	211.65
27486		3DS Max 2019 Training Guide Realistic 3D Modeling Tutor	SAGAR	1	INR	180.00	180.00	15.00	27.00	153.00
27497		A T/b Of Environmental Sciences	MURTHY	1	INR	110.00	110.00	15.00	16.50	93.50
27488		Adobe Flash Professional CC Classroom in a Book	ADOBE	1	INR	760.00	760.00	15.00	114.00	646.00
27489		Careers In Media And Film The Essential Guide	GREGORY	1	UKP	20.99	2214.45	15.00	332.17	1882.28
27490		Computer Graphics	BHATTACHARYA	1	INR	755.00	755.00	15.00	113.25	641.75
27491		Environmental Science 14/ED	MILLER	1	INR	675.00	675.00	15.00	101.25	573.75
27492		Environmental Studies for Undergraduate Courses	GARG	1	INR	199.00	199.00	15.00	29.85	169.15
27493			CLOW	1	INR	839.00	839.00	15.00	125.85	713.15
27494		Mastering Web Design W/cd	MCCOY	1	INR	450.00	450.00	15.00	67.50	382.50
27495		Media Programming Strategies &practices	EASTMAN	1	USD	42.95	3320.04	15.00	498.01	2822.03
27496	12 9789381430392	Personality Enrichment	RAGHUNATHAN	1	INR	100.00	100.00	15.00	15.00	85.00
27497		The Copyright Zone: A legal Guide for Photographers and Artii	GREENBERG	1	INR	1595.00	1595.00	15.00	239.25	1355.75
27498		Value Education	RAGHUNATHAN	1	INR	130.00	130.00	15.00	19.50	110.50



Sri Eswar Enterprises IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS
COMPUTER • SCIENTIFIC • TECHNICAL • MANAGEMENT
& LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017.
Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590
E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in
URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/171

Invoice Date

: 23-Oct-21

Shipment Mode

: By Hand Delivery

27499

0	SI No ISBN/Code	Title	Author	Oty Curr	Price	Gross	Disc%	Disc Value	Value
٦.	15 9788183335799	Web Designing and Development Training Guide	JAIN	1 INR	195.00	195.00	15.00	29.25	165.75
	E & OE		Total	15		11771.48		1765.72	10005.76
		_	The second second second second	a disconsission.			Les	es - Round Off	5.76

Received Rupees Ten Thousand Only.

for SRI ESWAR ENTERPRISES

1 De ton

Currency	Conv Rate
UKP	105.5000
USD	77.3000

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

- 1. Goods once sold cannot be taken back (or) exchange
- 2. All our transactions & invoices are subject to Madras Jurisdiction.
- 3. OUR PAN No: AGPPP4660C

Packed By

Checked By

Net Value

10000.00



Sri Eswar Enterprises IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS
COMPUTER • SCIENTIFIC • TECHNICAL • MANAGEMENT
& LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennal - 600 017.
Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590
E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in
URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/170 : 23-Oct-21

Invoice Date
Shipment Mode

: By Hand Delivery

Dice% Dice Value

Drugt 121

Bill To

THE PRINCIPAL (EE/AMBED)
DR.AMBEDKAR GOVT. ARTS COLLEGE
VYASARPADI

CHENNAI - 600 039

Ship To

MON-PLAN

THE PRINCIPAL

DR.AMBEDKAR GOVT. ARTS COLLEGE

VYASARPADI

CHENNAI - 600 039

Notes

DEPT OF STATISTICS - ORDERED BY MS. T.UMA -

MOB#9790928024

SI	No ISBN/Code	Title	Author	Qty	Curr	Price	Gross	DISC%	Disc value	value
275001	9781439818374	Applied Time Series Analysis	WOODWARD	1	INR	995.00	995.00	15.00	149.25	845.75
275012,	5029788184873252	Basic Statistics	THOMAS	2	INR	235.00	470.00	15.00	70.50	399.50
275033	9781484240588	Beginning Data Science in R Data Analysis Visualization and M	MAILUND .	1	INR	899.00	899.00	15.00	134.85	764.15
275044	9788131025017	Business Statistics And Business Mathematics	GUPTA	1	INR	650.00	650.00	15.00	97.50	552.50
275055	9789381430644	Business Statistics And Operation Research	VITTAL	1	INR	260.00	260.00	15.00	39.00	221.00
275066	9788180547003	Elements Of Mathematical Statistics	GUPTA	1	INR	260.00	260.00	15.00	39.00	221.00
275077	9788180547058	Fundamentals Of Applied Statistics	GUPTA	1	INR	595.00	595.00	15.00	89.25	505.75
275088	9789351611738	Fundamentals of Mathematical Statistics 12/ed	GUPTA	1	INR	695.00	695.00	15.00	104.25	590.75
275099	9789332556591	Introduction to Computing and Programming in PYTHON	GUZDIAL	1	INR	529.00	529.00	15.00	79.35	449.65
275/010	9781484246344	Learn R for Applied Statistics	HUI	1	INR	699.00	699.00	15.00	104.85	594.15
2751111	BK 0034801	Matrices	KHANNA	1	INR	340.00	340.00	15.00	51.00	289.00
27512-12		Modeling Techniques in Predictive Analytics with Python and	MILLER	1	INR	599.00	599.00	15.00	89.85	509.15
2751313		Operation Research	KANTI SWARUP	1	INR	625.00	625.00	15.00	93.75	531.25
2751414	9780199480173	Python Prograaming Using Problem Solving Approach	THAREJA	1	INR	575.00	575.00	15.00	86.25	488.75
2751515	9789386873521	R For Everyone 2/ED	LANDER	1	INR	730.00	730.00	15.00	109.50	620.50
275/616		Real Analysis	KHANNA	1	INR	320.00	320.00	15.00	48.00	272.00
2751717	9788126545667	Regression Analysis by Example 5/ed	CHATTERJEE	1	INR	899.00	899.00	15.00	134.85	764.15
2751818		Statistical Quality Control 7/ed	GRANT	1	INR	1120.00	1120.00	15.00	168.00	952.00



Sri Eswar Enterprises IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

COMPUTER . SCIENTIFIC . TECHNICAL . MANAGEMENT & LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017. Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590 E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/170

Invoice Date

: 23-Oct-21

Shipment Mode

: By Hand Delivery

SI No TSRN/Code 27519

STATE TOPIN/Code	aTitle	NAV THE NAME AND ADDRESS OF THE PARTY OF THE						
19.19 9789384769673	Statistics and Numerical Methods	Author	Qty Curr	Price	Gross	Disc%	Disc Value	Value
E & OE	occided and Numerical Methods	G.BALAJI	1 INR	506.00	506.00	15.00	75.90	430.10
	1	Total	20		11766.00		1764.90	10001.10

THE LOCAL STREET STREET, AS WELL AS THE HER MANGER WASHINGTON

Received Rupees Ten Thousand Only. A

THE WAY BY DEPOSITE AND AND THE PROPERTY bedrand to Packed By was a very

Checked By

Less - Round Off

Net Value

1.10

10000.00

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

1. Goods once sold cannot be taken back (or) exchange

2. All our transactions & invoices are subject to Madras Jurisdiction.

3. OUR PAN No: AGPPP4660C



Sri Eswar Enterprises IMPORTERS, PUBLISHERS, DISTRIBUTORS & LUBRARY SUPPLIERS

COMPUTER . SCIENTIFIC . TECHNICAL . MANAGEMENT & LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017. Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590 E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No Invoice Date : EE/2021/CRB/182

Shipment Mode

: 13-Nov-21 : By Hand Delivery



Bill To

THE PRINCIPAL (EE/AMBED) DR.AMBEDKAR GOVT. ARTS COLLEGE VYASARPADI

CHENNAI - 600 039

NON-PLAN

Ship To

THE PRINCIPAL

DR.AMBEDKAR GOVT. ARTS COLLEGE

VYASARPADI

Notes

DEPT OF DEFENCE & STRATEGIC STUDIES - PROF

ARAVINDAN - MOB#9445691894

	CITETINAL - 600 039	CHENNAI - 600	0.030							
7750	SI No ISBN/Code	Title	Author	Obe	C					
27520		3 - The man security of India 4/LD	KUMAR	QLY	Curr	Price	Gross	Disc%	Disc Value	Value
27521		Combined Defence Services (CDS) Examination Adda147	RUPA	1	INR	310.00	310.00	15.00	46.50	263.50
27522	9/88120757585	Comparative Politics	JOHARI	1	INR	995.00	995.00	15.00	149.25	845.75
27523		History of The Modern World	RAO	1	INR	400.00	400.00	15.00	60.00	340.00
27524	2,05555100175	Indian Art and Culture 3/ED	SINGHANIA	1	INR	400.00	400.00	15.00	60.00	340.00
275256		Indian Economy Key Concepts 6/ed english	SANKARGANESH	1	INR	825.00	825.00	15.00	123.75	701.25
275267	9789389811049	Indian Economy Key Concepts in Tamil - Indiya Porulatharam	SANKARGANESH	1	INR	265.00	265.00	15.00	39.75	225.25
275278	9789353949280	Indian Political Thought Themes and Thinkers 3/ed	ROY	1	INR	235.00	235.00	15.00	35.25	199.75
	-299789354600357	Indian Polity for Civil Services and Other State Examinations 6	LAXMIKANTH	2	INR	395.00	395.00	15.00	59.25	335.75
275301	.0 9/893546004/0	Internal Security Comprehensive Textbook for Civil Services E	SINGH	1	INR	940.00	1880.00	15.00	282.00	1598.00
2753 1	1 9/88120715608	International Relations & Politics Diplomatic History Between t	JOHARI	1	INR	445.00	445.00	15.00	66.75	378.25
275321	2 9/89390219575	International Polations Co., Co., LG: 11	SINGH	1	INR	250.00	250.00	15.00	37.50	212.50
	3-34,9780070660304	Modern Indian History	TARIQUE	2	INR	425.00	425.00	15.00	63.75	361.25
275351		NDA/NA 12 YEARS CHAPTER WISE SOLVED PAPERS-2017-20	G.K.P	1	INR	340.00	680.00	15.00	102.00	578.00
275361	5 9789385965890	Political Science for Civil Services Main Examination 2/ed	ARORA	1	INR	620.00	620.00	15.00	93.00	527.00
275371	6 9788121906647	Political Theory Principles of Political Science	AGARWAL	•	INR	765.00	765.00	15.00	114.75	650.25
275381	7 9789350121412	P. Cuptos Popular Master Cuida ASSAT S	RPH	1	INR	450.00	450.00	15.00	67.50	382.50
2753918	9788178123806	D. Custos Desides Mantes 11 G1 G	GUPTA	1	INR	440.00	440.00	15.00	66.00	374.00
2754619	9788194721093	IDCC CC Dealine Deadless V. C. L. L.	KIRAN		INR	440.00	440.00	15.00	66.00	374.00
2754120	9789390883356	IDCC DT Consul Chillian B	KIRAN		INR	625.00	625.00	15.00	93.75	531.25
					TIAL	475.00	475.00	15.00	71.25	403.75



27

Sri Eswar Enterprises IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS
COMPUTER • SCIENTIFIC • TECHNICAL • MANAGEMENT
& LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017.
Tel : 044 - 24345902, 24339591 Fax : 044 - 24339590
E-mail : yempeyes@gmail.com / yempeyes@md3.vsnl.net.in
URL : http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/182

Invoice Date

: 13-Nov-21

Shipment Mode : By Hand Delivery

SI No ISBN/Code	Title	NIII)						
7542.21 9789354600180	WORLD HISTORY: A Company to a second of the	or	Qty Curr	Price	Gross	Disc%	Disc Value	Value
E & OE	WORLD HISTORY: A Comprehensive Study of Modern World f REDI		1 INR	445.00	445.00	15.00	66.75	378.25
		Total	23		11765.00		1764.75	10000.25

Received Rupees Ten Thousand Only. A

for SRI ESWAR ENTERPRISES

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

Goods once sold cannot be taken back (or) exchange

2. All our transactions & invoices are subject to Madras Jurisdiction.

3. OUR PAN No: AGPPP4660C



THE DEED COMMENT OF THE PARTY OF

Less - Round Off

0.25

Net Value 10000.00

Checked By



Archane Arcade , 27, Natesan Street, T.Nagar, Chennal - 600 017.
Tel : 044 - 24345902, 24339591 Fax : 044 - 24339590
E-mail : yempeyes@gmail.com / yempeyes@md3.vani.net.in
URL : http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/179

Invoice Date Shipment Mode : 15-Nov-21 : By Hand Delivery

17/11/21

Bill To

THE PRINCIPAL (EE/AMBED)
DR.AMBEDKAR GOVT. ARTS COLLEGE
VYASARPADI

CHENNAI - 600 039

NON-PLAN

Ship

THE PRINCIPAL

DR.AMBEDKAR GOVT. ARTS COLLEGE

VYASARPADI

A THE RESERVE

154 14 1

CHENNAI - 600 039

Notes

DEPT OF PSYCHOLOGY - ORDERED BY DR. SAIGEETHA - HOD -

MOB#9841679117

SI No ISBN/Code	Title	1 - 600 039							
27(4) 64, 00000000000000000000000000000000000	The state of the s	Author	Otv	Curr	Price	Gross	Disc%	Disc Value	T/Street
13 43, 441 9789353068981	Biopsychology 10e	PINEL		-INR				The state of the s	Value
27545 2 9789332585201	Child Development 9ed		The second second	-	995.00	1,990.00	15.00	298.50	1,691.50
-75/		BERK	the state of the	INR	899.00	899.00	15.00	134.85	764.15
	to i sychology oc	HILGARD	00 900 1	INR	795.00	795.00	15.00	119.25	
B	Organizational Behaviour 18/ED	ROBBINS	1	INR					675.75
27548 5 9788126536375	Research in Psychology a Practical guide To Methods and	DVED	Section 21 To Section 2	245	949.00	949.00	15.00	142.35	806.65
27549 6 9789353940362	Statistics for Developer 6 and		1	INR	649.00	649.00	15.00	97.35	551.65
	Statistics for Psychology 6/ed	ARON	1	INR	645.00	645.00	15.00	96.75	548.25
E & OE			Total 7	100			25.00		
	\		, ,	112		5,927.00		889.05	5,037.95

Received Rupees Five Thousand Only.

for SRI ESWAR ENTERPRISES

Packed By

Checked By

Net Value

Add - Round Off

37.95

5,000.00

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

- 1. Goods once sold cannot be taken back (or) exchange
- 2. All our transactions & invoices are subject to Madras Jurisdiction.
- 3. OUR PAN No: AGPPP4660C



TAMILNADU BOOK HOUSE

44 NALLA THAMBI STREET TRIPLICANE CHENNAI - 600005 PH: 044-28441043/2381/3347



Dated: 22/10/2021

Weight

22/10/2021

NON-PLAN

INVOICE

M/S THE PRINCIPAL DR AMBEDKAR GOVT ARTS COLLEGE

> VYASARPADI CHENNAI - 600 039 TAMILNADU

NO. : HO/IN/IN/90

: HO/AM/44,HO/AM/43, Ref. No. & Date

Gr./AWB No & Date : 22/10/2021

Dispatch Mode

Salesman Packages

: DEPT OF PYSCHOLOGY Transport

5.1	No	ISBN	Author	Title	Qty	Curr.	Price	Gross	Dis%	Amount
75	50	9788123927114	KRISHNE GOWDA	ESSENTIALS OF PSYCHOLOGY FOR BSC NURSING STUDENTS (CBS PUBLISHERS & DISTRIBUTORS)	1	RS	340.00	340.00	20.00	272.0
75 5		9788174730909	fernald	MUNNS INTRODUCTION TO PSYCHOLOGY 5e (AITBS PUBLISHERS)		RS	795.00	795.00	20.00	636.0
755	2,	9788180940682	P RAMADASS	RESEARCH AND WRITING ACROSS THE DISCIPLINES (MJP PUBLISHERS)	2	RS	695.00	1,390.00	20.00	1112.0
755	4	9788180940460	VIJAYALAKS HMI	RESEARCH METHODS FOR TIPS & TECHNIQUES (MJP PUBLISHERS)	1	RS	250.00	250.00	20.00	200.0
75	5	9789390459896	A THOMAS WILLIAM	RESEARCH METHODS QUANTITATIVE QUALITATIVE AND MIXED (Authors Press)	1	RS	2,800.00	2,800.00	20.00	2240.0
755		9788180940903 57	A RAJATHI	SPSS FOR YOU (MJP PUBLISHERS)	2	RS	495.00	990.00	20.00	792.0
				A Company of the Comp						
						-				
				(A) C (Mark of the A)						
-	otal			Qty.	8	6	ross 6	,565.00 1,	313.00	5,252.

Total

Less Amount

4.80%

252.00

IN WORDS

Rs. Five Thousand Only

Note:

Exchange Rates:

RS - 1.00

5,000.00

TERMS & CONDITION

E. & O. E.

- 1. Certified that correct Publishers's Price have been Charged.
- 2. Latest Ed of books have been Supplied & current Conv. Rates as Appd, by GOC have been charged
- 3. Books supplied are in accordance with the order hence will not be taken back.
- 4. Out Stations should be made by Bank Draft / Payable at Chennai.
- 5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period,
- 6. All disputes are subject to Chennai Jurisdiction only.

FOR TAMILNADU BOOK HOUSE





Sri Eswar Enterprises
IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS COMPUTER . SCIENTIFIC . TECHNICAL . MANAGEMENT & LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017. Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590 E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No Invoice Date : EE/2021/CRB/181

Shipment Mode

: 13-Nov-21 : By Hand Delivery

NON-PLAN

Ship To

THE PRINCIPAL

DR.AMBEDKAR GOVT, ARTS COLLEGE

VYASARPADI

CHENNAI - 600 039

Notes

DEPT OF COMMERCE - DR.S. SARAVANAN -MOB# 9444628212

THE PRINCIPAL (EE/AMBED)
DR.AMBEDKAR GOVT. ARTS COLLEG
VYASARPADI
CHENNAI - 600 039
CINO tenure

Bill To

SINO	ISBN/Code	Title	Author	Otar	Cum			-		
27558-1-59	9788182095069	Banking Theory Law & Practice	GURUSAMY	Qty		Price	Gross	Disc%	Disc Value	Value
27562-2-61	BK 0130847	Banking Theory Law & Practice	RADHA	2	INR	180.00	360.00	15.00	54.00	306.00
275623	9789381430897	Business Environment	SANKARAN	1	INR	170.00	340.00	15.00	51.00	289.00
275634	9789351611936			1	INR	200.00	200.00	15.00	30.00	170.00
275645	9788125925286		BAGRIAL	1	INR	450.00	450.00	15.00	67.50	382.50
275656	9788121918015		KHANKA	1	INR	450.00	450.00	15.00	67.50	382.50
27566.7	9788182092723	Entrepreneurship Development	SUNDER	1	INR	625.00	625.00	15.00	93.75	531.25
27567-8-68	9788182095410	Essentials of Principles of Management	SUNDAR	1	INR	195.00	195.00	15.00	29.25	165.75
27569.9	9789351611424	Financial Management Principles and Practice	MAHESHWARI	2	INR	160.00	320.00	15.00	48.00	272.00
2757010	9788182093973	Financial Markets and Institutions 4/ed		1	INR	750.00	750.00	15.00	112.50	637.50
27571.11	9789383242467	Financial Services	GURUSAMY SANTHANAM	1	INR	495.00	495.00	15.00	74.25	420.75
27572.12	9788125931201	Financial Services And Markets		1	INR	200.00	200.00	15.00	30.00	170.00
27573.13	9789351611905	Goods and Service Tax With Customs Law	PANDIAN GUPTA	1	INR	475.00	475.00	15.00	71.25	403.75
27574.14	9789352534357	Human Resource Management Text and Cases 2/ed		1	INR	300.00	300.00	15.00	45.00	255.00
2757515	9788195269006	Income Tax Law & Practice Assessment year 2021-22	KHANKA	1	INR	599.00	599.00	15.00	89.85	509.15
27576.16	9789381430583	Income Tax Theory Law and Practice Assessment Year 2021 -	SRINIVASAN	1	INR	350.00	350.00	15.00	52.50	297.50
27577.17	9788120352216	Industrial relations and Labour Legislation	REDDY	1	INR	360.00	360.00	15.00	54.00	306.00
2757818	9789332549487		SHARMA	1	INR	895.00	895.00	15.00	134.25	760.75
275 /8 10-80	9788178740706	Introduction to Risk Management and Insurance 10/ed	DORFMAN	1	INR	699.00	699.00	15.00	104.85	594.15
	9788121935517		SARAVANAVEL	2	INR	345.00	690.00	15.00	103.50	586.50
	9789381430064		PILLAI	1	INR	425.00	425.00	15.00	63.75	361.25
	9788180545399		RAVI	3	INR	170.00	510.00	15.00	76.50	433.50
27587-23-88	9700100343339		GUPTA	2	INR	110.00	220.00	15.00	33.00	187.00
-0			RAJAN NAIR	2	INR	295.00	590.00	15.00	88.50	501.50
	9789386398055		NATARAJAN	1	INR	180.00	180.00	15.00	27.00	153.00
	9789351610205		GUPTA	1	INR	275.00	275.00	15.00	41.25	233.75
2759126	9789332584921	Principles of Risk Management and Insurance 13 ed	REJDA	1	INR	689.00	689.00	15.00	103.35	585.65
										505.05



Sri Eswar Enterprises

IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS COMPUTER . SCIENTIFIC . TECHNICAL . MANAGEMENT & LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017. Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590 E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

Invoice No

: EE/2021/CRB/181

Invoice Date

: 13-Nov-21

Shipment Mode

: By Hand Delivery

SI No ISBN/Code Title					/		
27592 27 9789351611745 Question Bank Financial Management	Author Qty	Curr	Price	Gross	Disc%	Disc Value	Value
E & OE	AMBULI 1	INR	130.00	130.00	15.00	19.50	110.50
	Total 35			11772.00		1765.80	10006.20

even and an appropriate an expense and sector tellipses.

Received Rupees Ten Thousand Only. /

for SRI ESWAR ENTERPRISES

nets and engages is and evaluation. The stant Packed By

Net Value 10000.00

6.20

Checked By

Less - Round Off

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

1. Goods once sold cannot be taken back (or) exchange

2. All our transactions & igvoices are subject to Madras Jurisdiction.

checked & Verine 35 600 kg.

Received 35 600 kg.

Heren 151121

Soromanan.

Associate Professor & Head Department of Commerce Dr. Ambedkar Govt, Arts College, Vyasarpadi, Chennai-600 039



MARGHAM PUBLI

H.O: Margham Towers, B-3, T.V.K. Industrial Estate, Guindy, Chennai - 600 032.

Ph: 2250 1105, 4857 4733 Email: margham.tn@gmail.com (Near Guindy Bus Stand)

T.Nagar Office: #24, Rameswaram Road, T.Nagar, Chennai - 600 017. Ph: 2432 2469, 2435 4305 Website: www.marghampublications.com

ONLINE SHOPPING @ www.marghampublications.com

GSTIN: 33AAAFM0887B2ZP

PAN: AAAFM0887B

To

INVOICE

The Principal DR. Ambedkar (Chennai) Dr. Ambedkar Govt Arts College

Vyasarpadi,

Chennai - 600 039.

Transport:

Town

Date:

Invoice No.

Ref: 05861

Phor99E/198021 dt. 20.9.2021

Payment Terms:

L.R No:

24-Nov-21

	Town:				
	SI.No. Item Name	Quantity	Rate Rs.	Discount%	Amount Rs.
I	27593-97	A Corionia and			
	L NatarajaniSBN No:978-93-81430-29-3	5 nes	180.00	20%	720,00
02	2 Knowledge Management / 598-602T. S.Raviisen No:978-93-83242-10-8	5 nos	140.00	20 %	560.00
(12-	Advertising and Salesmanship By P. Saravanavel & S. Sumathil SBN No: 978-93-81430-14-9	5 nos	230,00	20 %	920.00
	Brand Management 8-13 Dr.L.Natarajan	6 nos	70.00	20 %	336.00
	5 Business Environment (CDB) / 14-18 Dr. C.D. Balaji ISBN No: 978-93-83242-62-7	5 nos	170.00	20%	680.00
	6 Consumer Protection and Consumer Rights KA-230r. H. Premraj	5 nos	140.00	20%	560.00
	7 Creativity & Innovation Management 7624-28P. Rizwan Ahmed	5 nos	130.00	20 %	520.00
0	9 Cyber Law 27629 Dr. P. Rizwan Ahmed ISBN No. 978-93-83242-60-3	6 nos	150.00	20 %	720.00
0	Rounded Off				(-)16.00
0					
0					
0					
0	E. & O. E.				/
0	Rupees INR Five Thousand Only	42 nos	TO	TAL ₹	5,000.00

NON-PLAN

Remarks:Sm

Acknowledgement Received the Books in good condition.

Customer's Signature with Seal

OUR BANK : AXIS BANK

A/C No. : 911030005714407 **BRANCH**

: SME,Chennai - 600002 IFSC No. : UTIB0001165

For MARGHAM PUBLICATIONS

Authorised Signatory

Checked by

MIUN NO.

MICR No.

:600211036

-11-2021

PRASANNA PUBLISHERS

OLD No: 20, KRISHNAPPA STREET, (NEAR SANTHOSH MAHAL) CHEPAUK, CHENNAI-600 005,

TAMIL NADU.

PHONE: 044-2858 1754/2858 1755

MOBILE: 8939100188

email:spprasanna.1986@gmail.com

MON-PLAN

To.

THE PRINCIPAL

DR. AMBEDKAR GOVT. ARTS COLLEGE,

B.B.A. DEPARTMENT,

VYSARPADI, CHENNAI - 600 039.

:0967/B/2021 DATED:20.09.2021 YOUR ORDER NO

DOCUMENTS THROUGH: LORRY RECEIPT NO :

INVOICE	NO.	7	DATE: 18

	SNO	AUTHOR	TITLE	PUB	QTY	RATE	DISC%	AMOUNT
27	-	RADHA	BUSINESS COMMUNICATION	PRASANNA	,3	200.00	20.00	600.00
	635. 2 138-	RADHA	ENTREPRENEURIAL DEVELOPMENT (NEW)	PRASANNA	_3	200.00	20.00	600.00
		RADHA	ENVIRONMENTAL STUDIES	PRASANNA	_ 2	110.00	20.00	220.00
	43-	RADHA	FINANCIAL ACCOUNTING (COM)	PRASANNA	_2	330.00	20.00	660.00
	545	RADHA	FINANCIAL SERVICES	PRASANNA	/3	140.00	20.00	420.00
		RADHA	FINANCIAL MANAGEMENT	PRASANNA	2	150.00	20.00	300.00
	650	RADHA	HUMAN RESOURCE MANAGEMENT	PRASANNA	2	√140.00	20.00	280.00
	8	RADHA	MARKETING MANAGEMENT (TEXT)	PRASANNA	. 2	160.00	20.00	320.00
	9	RADHA	ORGANISATIONAL BEHAVIOUR	PRASANNA	_ 2	140.00	20.00	280.00
	10	RADHA	PRINCIPLES OF MANAGEMENT	PRASANNA	2	//120.00	20.00	240.00
	11		BUSINESS ETHICS & VALUE	PRASANNA	2	120.00	20.00	240.00
	12	RADHA	VALUE EDUCATION	PRASANNA	3	100.00		300.00
	13	RADHA	SERVICES MARKETING	PRASANNA	~ 2	/ 150.00	20.00	300.00
27	14	RADHA	VANIGATHIL KANIPORIYIN PAYANPADUGAL	PRASANNA	1	100.00	20.00	100.00
27	15	RADHA	VANIGA THAGAVAL THODARBU	PRASANNA	_ 1	//160.00		160.00
	16 67	RADHA	NITHINILAI KANAKKIYAL	PRASANNA	, 1	240.00		240.00
	668	RADHA	MANITHAVALA MELANMAI	PRASANNA	-1	140.00	20.00	140.00
	469	RADHA	ANGADIYIYAL MELANMAI	PRASANNA	(1	130.00		130.00
27	19 670	RADHA	AMAIPUSARNTHAPOKKU	PRASANNA	1	/ 130.00		130.00
27	20 671	RADHA	THOZHILMUNAIVU MEMBADU	PRASANNA	/1	/ 180.00	20.00	180.00
		ITEM(S)		TOTAL DIS	COUN FOR	MUOMA THUC		
	Rur	pees:						

Rupees:

SUBJECT TO CHENNAI JURISDICTION ONLY E.&O.E

Seal & Sign.

FOR PRASANNA PUBLISHERS

Authorised Signatory

RASANNA PUBLISHERS

OLD No:20, KRISHNAPPA STREET, (NEAR SANTHOSH MAHAL) CHEPAUK, CHENNAI-600 005, TAMIL NADU.

PHONE: 044-2858 1754/2858 1755

MOBILE:8939100188

email:spprasanna.1986@gmail.com

To.

THE PRINCIPAL

DR. AMBEDKAR GOVT. ARTS COLLEGE,

B.B.A. DEPARTMENT,

VYSARPADI,

CHENNAI - 600 039.

YOUR ORDER NO :0967/B/2021 DATED:20.09.2021

DOCUMENTS THROUGH: LORRY RECEIPT NO :

INVOICE NO. 7 DATE: 18-11-2021

SNO	AUTHOR	TITLE	PUB	QTY	RATE	DISC%	AMOUNT
21 (72	RADHA	MELANMAI THATHUVANGAL	PRASANNA	1	140.00	20.00	140.0
	RADHA	VURPATHI MELANMAI	PRASANNA	1-11	80.00	20.00	80.0
23	RADHA	VILAMBARAMUM VIRPANAITHIRANUM	PRASANNA	-1	_100.00	20.00	100.0
	RADHA	MATHIPPUKALVI	PRASANNA	1	/ 100.00	20.00	100.0
675		itto A-mi	1				
		process and an area of the contract of the con					
		Lawrence agencies back at by	PASSET EASIE				
		CONTRACTOR WILLIAM STATES	61 8313239	4.68			
		28872-28873 av m. 127-1276					
		Y AME SIMAL	13 4 7 8				
		1014 12	16				
		carries approximately secure	Station,				
		65 Balen					
		(SE) 30 00 00 00					
		delica eta tra esperante de la composición del composición de la composición de la composición de la composición de la composición del composición de la composición del composición del composición del composición del composición	100				
		A MALE TO LANGE TO THE TAXABLE TO TH					
		SECRETARIOS DE SERVICIO					
24	ITEM(S)		QTY : PRODUCT D TOTAL DIS	ISCOUN	OUNT AMOUN	T :	6260.0 1252.0 0.0 -8.0

Rupees: Five Thousand Only

SUBJECT TO CHENNAI JURISDICTION ONLY E. &O. E

Seal & Sign.

FOR PRASANNA PUBLISHERS

H. C Authorised Signatory



YOURS CHOICE

Bookseller & Library Suppliers No 160/224 M.P.M Street

J 4 K.V. Aparment

Perambur, Chennai-600 039

--+ 0062720066 / 0780006123

Cont- 9962720966 / 9789996123

Page 1 of 1

INV.NO.YC-21-22/104

DATE: 03/12/2021

E-mail Id: yourschoice@hotmail.com PAN NO,BSBPP0943D

CREDIT BILL

NON-PLAN

то,

TTHE PRINCIPL,

Dr.AMBEDKAR GOVT. ARTS COLLEGE,

VYSARPADI, CHENNAI 600 39

CHENNAI 600 039

DEPT:ECONOMICS

	SL.NO	AUTHOR	TITLE	QTY	CUR	PRICE	GROSS	AMOUNT	
276	76 - 80	ARVIND KEHSAORAO	RESEARCH METHODOLOGY	5	Rs	275.00	1,375.00	1,375.00	
2769	1-2-84	H L. AHUJA	BUSINESS ECONOMICS (NEW)	5	Rs	295.00	1,475.00	1,475.00	
2768	5-3-90	H L. AHUJA	MANAGERICAL ECONOMICS	5	Rs	725.00	3,625.00	3,625.00	
2769	1-4-95	V LOGANATHAN	A HISTORY OF ECONOMICS	5	. Rs	350.00	1,750.00	1,750.00	
2769	6-5-98	JHINGAN	MACRO ECONOMIC THEORY	3	Rs	395.00	1,185.00	1,185.00	
	THE RESERVE OF THE PARTY OF THE	ASHWANI MAHAJAN	INDIAN ECONOMY 72 EDN	5	Rs	695.00	3,475.00	3,475.00	
2770	1-7-05	ARIHANT	ARIHANT NTA/UGC ECONOMIC PAPER-2	2	Rs	610.00	1,220.00	1,220.00	
		R L VARSHNEY	MANAGERIAL TEXT PROBLEMS	5	Rs	550.00	2,750.00	2,750.00	
		R CAUVERY	MANAGERIAL ECONOMICS	5	Rs	365.00	1,825.00	1,825.00	
		T N HAJELA	MACROECONOMICS THEORY 10 EDN	4	Rs	495.00	1,980.00	1,980.00	
	Total State of the last	N T SOMASEKAR	DEVELOPMENT ECONOMICS (INCLUDING ENVIRONMENTAL CONCEPTS)	5	Rs	295.00	1,475.00	1,475.00	
277	12	KC SANKARANARAYAN	MANAGERIAL ECONOMICS	1	Rs	395.00	395.00	395.00	
2772	26-2-	P L METHA	MANAGERIAL ECONOMICS ANALYSIS, PROBLEMS, AND CASES	2	Rs	510.00	1,020.00	1,020.00	
			QTY	52					
			GROSS AMOUNT					23,550.00	
			DISCOUNT 15%					3,533.00	
			ROUND OFF 17.00						
			NET AMOUNT					20,000.00	

Amont In words: Rupess: TWENTY THOUSAND ONLY

E&O.E

- 1. All Diputes are subject to CHENNAI jurisdiction Only
- 2. The amount of this bill is payable in full at Chennai and all cheques are accepted subject to realisation
- 3. All goods are delivered at buyers risk. Sellers are not responsible for any damage.
- 4. Certified that correct Publishers price has been Charged and Titles supplied in the bill

For YOURSCHOLD

(Authorized S





YOURS CHOICE

Bookseller & Library Suppliers
No 160/224 M.P.M Street
J 4 K.V. Aparment
Perambur, Chennai-600 039

NON-PLAN



E-mail Id: yourschoice@hotmail.com PAN NO,BSBPPO943D Cont- 9962720966 / 9789996123 Page 1 of 2

CREDIT BILL

INVOICE NO. YC/21-22/107 DATE:07/12/2021

THE PRINCIPAL, DR. AMBEDKAR GOVT. COLLEGE, VYSARPADI, CHENNAI 600 039

DEPT:BBM

				OTV	CUID	DRICE	GROSS	AMOUNT	
	S NO	AUTHOR	TITLE	QTY	CUR	PRICE	GRUSS	AIVIOUIVI	
27	728	CHANDRASEKARAN	VERMICOMPOSTING (TAMIL)	1	Rs	55.00	55.00	55.00	-
27	729	CHANDRASEKARAN	OBEJECTIVE OF PLANT BREEDING (TAMIL)	1	Rs	95.00	95.00	95.00	1
27	730	CHANDRASEKARAN	ENVIRONMENTAL POLLUTION (TAMIL)	1	Rs	150.00	150.00	150.00	/
277	31-	CHANDRASEKARAN	BIOFERTILIZER (TAMIL)	3	Rs	90.00	270.00	270.00	-
27	734-	CHANDRASEKARAN	HORTICULTURE &CROP BREEDING (TAMIL)	2	Rs	155.00	310.00	310.00	/
27	73 ⁶ 6-	CHANDRASEKARAN	BIOTECHNOLOGY (TAMIL)	2	Rs	160.00	320.00	320.00	1
27	STATE OF THE PARTY	CHANDRASEKARAN	MUSHROOM TECHNOLOGY (TAMIL)	3	Rs	55.00	165.00	165.00	-1
27	741-	CHANDRASEKARAN	ENVIRONMENTAL STUDIES (TAMIL)	2	Rs	140.00	280.00	280.00	1
		CHANDRASEKARAN	IMMUNOLOGY & BIOSTATISTICS (TAMIL)	2	Rs	90.00	180.00	180.00	1
		CHANDRASEKARAN	PLANT ANATOMY & EMBRYOLOGY (TAMIL)	2	Rs	100.00	200.00	200.00	1
27	120 (10 m) (10 f)	CHANDRASEKARAN	BIOCHEMISTRY & BIOPHYSICS (TAMIL)	2	Rs	125.00	250.00	250.00	1
27		CHANDRASEKARAN	BRYOPHYTA (TAMIL)	3	Rs	53.00	159.00	159.00	1
27		CHANDRASEKARAN	MICROBIOLOGY (TAMIL)	3	Rs	180.00	540.00	540.00	1
27	The state of the s	CHANDRASEKARAN	CYTOLOGY MICROSCOPY&MICROTECHNIQUE (TAMIL)	3	Rs	60.00	180.00	180.00	1
27	15	CHANDRASEKARAN	BIOINSTRUMENTATION & BIOSTATISTICS(TAMIL)	1	Rs	100.00	100.00	100.00	-
27-	16	CHANDRASEKARAN	MODERN PHYCOLOGY (TAMIL)	3	Rs	145.00	435.00	435.00	-
27	17	CHANDRASEKARAN	PLANT PHYSIOLOGY (TAMIL)	3	Rs	120.00	360.00	360.00	
27	18	CHANDRASEKARAN	GENETICS (TAMIL)	2	Rs	190.00	380.00	380.00	
27	Marie State	CHANDRASEKARAN	MICROBIOLOGY (TAMIL) PART 1	3	Rs	160.00	480.00	480.00	
27		CHANDRASEKARAN	PTERIDOPHYTES,GYMNOSPERMS&PALABOTANY (TAMIL)	3	Rs	125.00	375.00	375.00	
	-			C CO					-

			NET AMOUNT	Sa Par				10,000.00
			SPL.DISCOUNT					104.80
			DISC. 20%		H			2,526.20
			GROSS AMOUNT	1	161 8	542.20		12,631.00
			QTY	70	1 4 5	Name of Street		
2779		C B NIRMALA	PLANT BIOTECHNOLOGY	1	Rs	240.00	240.00	240.00
2779		B P PANDEY	COLLEGE BOTANY VOL 3	1	Rs	850.00	850.00	850.00
2779		B P PANDEY	COLLEGE BOTANY VOL 2	1	Rs	499.00	499.00	499.00
2779		B P PANDEY	ECONOMIC BOTANY	1	Rs	499.00	499.00	499.00
2779		B P PANDEY	BOTANY FOR DEGREE STUDENT SEM 1	1	Rs	399.00	399.00	399.00
2779		B P PANDEY	BOTAMY FOR DEGREE STUDENT SEM S	1	Rs	325.00	325.00	325.00
2779	129	B P PANDEY	BOTANY FOR DEGREE STUDENT SEM 3	1	Rs	325.00	325.00	325.00
	28 7 8 9	CHANDRASEKARAN	DIVERSITY IN LIVING WORLD&STRUCTURAL ORGANISATION IN ANIMALS,PLANT- "NEET"(TAMIL)	2	Rs	480.00	960.00	960.00
		CHANDRASEKARAN	ECONOMIC BOTANY (TAMIL)	2	Rs	280.00	560.00	560.00
27	²⁶ 785	CHANDRASEKARAN	PLANT MORPHOLOGY&CLASSIFICATION PART II (TAMIL)	2	Rs	225.00	450.00	450.00
27	784	CHANDRASEKARAN	PG-TRB BOTANY GUIDE UNIT IV (TAMIL)	1	Rs	360.00	360.00	360.00
27	24 781-	CHANDRASEKARAN	PLANT MORPHOLOGY AND TAXONOMY (TAMIL	3	Rs	165.00	495.00	495.00
27	23 78	CHANDRASEKARAN	ALLIED BOTANY (TAMIL)	3	Rs	240.00	720.00	720.00
27	776	CHANDRASEKARAN	PLANT TISSUE CULTURE (TAMIL)	2	Rs	100.00	200.00	200.00
4	773	CHANDRASEKARAN	ENVIRONMENTAL SCIENCE (TAMIL)	3	Rs	155.00	465.00	465.00

Amont In words: Rupess: TEN THOUSAND ONLY

CUR.EXCHANGE RATES:

E&0.E

A THE SAME AND SELECTION OF All Diputes are subject to CHENNAI jurisdiction Only

2. The amount of this bill is payable in full at Chennai and all cheques are accepted subject to realisation

3. All goods are delivered at buyers risk. Sellers are not responsible for any damage.

4. Certified that correct Publishers price has been Charged and Titles supplied in the bill

. . . IIN : 33H036B2693

PRIYA PUBLICATIONS 31, SOUTH STREET, ANNA NABAR, KARUR - 2.

Phone: 510:04324 Off: 240496Hes 240526

Cell: 98430 - 36526, 94422-36526 INVUILLE

Ord No : 7 Sc

10

M/s. M/s. THE PRINCIPA (CHENNAL)

DEPT. OF. PHYSICS,

DR. AMBETHKAR GOVT. ARTS COLLEGE,

VYASARBADI,

CHENNAL. - 39. - Dt

MON-PLAN

Bill No : 7 Sc.

Date : 02/12/2021

S.No	Book Particulars	Qty	Rate	Amount
27798-805.1	8 . 80 . , "வெப்ப இயற்பியல்	8	90.00	720.00
27806-8152	B.SC. , நிறமாலையியலும் லேசர்இயற்பியலும்	10	80.00	B00.00
27816-8245	B.50. Bartosof 1 15	9	HØ.00	720.00
27825-8324	B.SC., വിൽത്തുമിയർ	G	90.00	120.00
27833-8405	B. SC. , எந்திரவியல்	В	90.00	/20.00
27841-8486	B.SC., gallulusi	8	90.00	720.00
27849-856	B. St. , அனு இயற்பியல்	Θ	40.00	120.00
27857-864 H		θ	90.00	120.00

The contract of the contract o THE REPORT OF THE PERSON AND THE PER Marky - Mark TATION PARKET DE K.

> 5840.00 Total Amount : Discount 15.00 % 4964.00 4964.00 Bill Amount :

Rupees. Four Thousand Nine Hundred Sixty Four Only

* Kindly send the DD within 10 days.

* Interest at 18% will be charged on late payment.

* All legal action subject to Karur judicial only.

FOR PRETY PADETRATINGS



Sri Eswar Enterprises IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

& LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennal - 600 017. Fax: 044 - 24339590 Tel: 044 - 24345902, 24339591 E-mail: yempeyes@gmail.com / yempeyes@md3.vsnl.net.in

URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

NON-PLAN

Ship To

THE PRINCIPAL

DR.AMBEDKAR GOVT. ARTS COLLEGE

VYASARPADI CHENNAI - 600 039

DEPT OF PHYSICS - KIND ATTN MS. SUBHASHINI - HOD -

: EE/2021/CRB/237

: By Hand Delivery

: 11-Dec-21

MOB#9941598027

Invoice No

Invoice Date

Shipment Mode

CHENNAI - 600 039

Bill To

VYASARPADI

THE PRINCIPAL (EE/AMBED)

DR.AMBEDKAR GOVT. ARTS COLLEGE

SI No	ISBN/Code	Title	Author Qty	Curr	Price	Gross	Disc% [Disc Value	Value
27865-661	9788121904148	Atomic And Nuclear Physics	SUBRAMANYAM2	INR	310.00	620.00	15.00	93.00	527.00
27867-68.2		Fundamentals of Microprocessors and Microcontrollers	RAM 2	·INR	285.00	570.00	15.00	85.50	484.50
	9788180549281	Mathematical Physics With Classical Mechanics	PRAKASH 1	INR	745.00	745.00	15.00	111.75	633.25
27869 3	9788121905992	Mechanics	MATHUR 2	INR	625.00	1,250.00	15.00	187.50	1,062.50
27870-714		Practical Physics And Electronics	OUSEPH 2 2	INR	280.00	560.00	15.00	84.00	476.00
27872-735		Ouantum Mechanics 2/ed	ARULDHAS 2	INR	395.00	790.00	15.00	118.50	671.50
27874-756	9788120336353	Quantum ricardines 2/ca	SUKHATME 1	INR	740.00	740.00	15.00	111.00	629.00
27876 7	9789352607112	Soldi Lifergy Te		INR	325.00	650.00	15.00	97.50	552.50
27877-788	9788121914765	Solid State Physics	Total 14	LIVIX	323.00	5,925.00	15.00	888.75	5,036.25
F & ()F		10tai 14			3,923.00		000.75	3,030.23

Received Rupees Five Thousand Thirty Six Only.

· Same of the CONCLERON TOWN BY SERVICES BO A GO BERRY WINGSON

Packed By

Checked By

Less - Round Off

Net Value

0.25

5,036.00

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

1. Goods once sold cannot be taken back (or) exchange

2. All our transactions & invoices are subject to Madras Jurisdiction.

3. OUR PAN No: AGPPP4660C



V.K.R. BOOK SUPPLIERS

93/41, Venkatrangan Street, Triplicane, Chennai - 600 005. Tel : 044 - 4356 8828 Fax : 43568828 Mobile: +91 98407 15589 E-mail: vkrbsinformation@gmail.com

INVOICE

NON-PLAN

1/11/2) HSN CODE:4901

To The Principal Dr Ambedkar Government Arts College Vyasarpadi, Chennai 600 039

Invoice -NO:029/21/22 Date 15/11/2021

	1	Dept of Zoology	PUBLISHERS	QTY	PRICE	AMOUNT
S.NO	AUTHOR	TITLE	SARAS	1	1000.00	1000.00
	N. Arumugam	CSIR-UGC NET/SET for JRF and Lectureship - Life Science Volume 1			900.00	900.00
2	N. Arumugam	CSIR-UGC NET/SET for JRF and Lectureship - Life	SARAS	1	900.00	
		Science Volume 2 CSIR-UGC NET/SET for JRF and Lectureship - Life	SARAS	1	1000.00	1000.00
	27881	Science Volume 3 CSIR-UGC NET/SET for JRF and Lectureship - Life	SARAS	1	900.00	900.00
4	N. Arumugam 27882	Science Volume 4	SARAS	1	1100.00	1100.00
5	N. Arumugam	CSIR-UGC NET/SET for JRF and Lectureship - Life Science Volume 5			202.00	900.00
	27883	Research Methodology for Life Science	SARAS	1	900.00	-
7	P. Natarajan, N.	Animal Behaviour(Ethology)	SARAS	2	1350.00	
-	Arumugamz 7885-86 N. Arumugam, A.	Animal Physiology	SARAS	3	1400.00	4200.00
	Meena 27887-89	White the rest of the second	SARAS	1	900.00	ASSESSMENT OF THE PERSON NAMED AND ADDRESS OF THE PERSON NAMED ADDRESS OF THE PERSON NAMED AND ADDRESS OF THE PERSON NAMED AND
	9 N. Arumugam 2789	Aquaculture A Text Book of Embryology (Developmental Zoology)	SARAS	2	1300.0	0 2600.00
	27891-92	Economic Zoology	SARAS	1	1400.0	0 1400.00
1	1 Jayasurya, N.C Nair, 27893		Total No.Qty		THE RESIDENCE AND PARTY OF THE	
				-	Gross Tota	THE R. P. LEWIS CO., LANSING, MICH.
				Di	scount-15	
		Land Sixty Only		To	tal Amou	nt 14960.00
	(Rupees Fourteen T	housand Nine Hundred and Sixty Only.)				

FOR VKR BOOK SUPPLIERS

AUTHORIZED SIGNATORY

Terms & Conditions:

Books Once Sold cannot be Taken Back. ●Publishers Current Prices will be charged. ●Payment Should reach us within Credit Period. Interest @ 24% p.a. will be charged on overdue bills. • All disputes are Subject to Chennai Jurisdiction only.



V.K.R. BOOK SUPPLIERS

93/41, Venkatrangan Street, Triplicane, Chennal - 600 005. Tel : 044 - 4356 8828 Fax : 43568828 Mobile : +91 98407 15589 E-mail : vkrbsinformation@gmail.com

NON-PLAN

INVOICE

30/11/2)

HSN CODE:4901

To The Principal Dr Ambedkar Government Arts College Vyasarpadi, Chennai 600 039

Invoice -NO:030/21/22

Dept of English

Date 15/11/2021

					Date 1	JITTIEUEL	
	S.NO	AUTHOR	TITLE	PUBLISHERS	QTY	PRICE	AMOUNT
2	73741	CHOUDHARY	UPKAR UGC ENGLISH LITERATURE	UPKAR	4	475.00	1900.00
2	7898 2	JAMES	THE POETRY OF WAR	CUP	1	2195.00	2195.00
		BLOOM	YOUNG GOODMAN BROWN	VIVA	1	125.00	125.00
2	790.4	BLOOM	THE RED BADGE OF COURAGE	VIVA	1	145.00	145.00
2	7901.5	CURRAN	THE CAMBRIDGE COMPANION TO BRITISH ROMANTICISM	CUP	1	2249.00	2249.00
		BLOOM	DRACULA	VIVA	1	195.00	195.00
2	7903.7	BLOOM	DARKNESS AT NOON	VIVA '	1	145.00	145.00
2	7904.8	BEISER	HEGEL	ROUTLEDGE	1	325.00	325.00
2	7905.9	CHOPIN	THE AWAKENING	NORTON	1	1233.00	1233.00
		JUDITH	BUTLER	RQUTLEDGE	1	395.00	395.00
		STUART	HALL	ROUTLEDGE	1	395.00	395.00
		BLOOM	MISS LONELYHEARTS	VIVA	1	125.00	125.00
2	796913	JOHN	HEIDEGGER	ROUTLEDGE	1	1695.00	1695.00
		FREDRIC	JAMESON	ROUTLEDGE	1	395.00	395.00
2	79(1,15	BLOOM	THE DEATH OF ARTEMIO CRUZ	VIVA	1	145.00	145.00
2	7912,16	JOHN	DR.JEKYLL & MR.HYDE	S.CHAND	1	90.00	90.00
2	7913,17	DUTTA	ALL ABOUT ANXIETY	GOODWILL	1	75.00	75.00
				Total No.Qty.	20		
1					G	iross Total	11827.00
						count-15%	1774.05
						al Amount	
						ided Off (-)	
		(Rupees Ten T	housand and Foty Only.)		N	et Amount	10040.00

FOR VKR BOOK SUPPLIERS

AUTHOBIZED SIGNATORY

Terms & Conditions:

•Interest @ 24% p.a. will be charged on overdue bills. • All disputes are Subject to Chennai Jurisdiction only.

[■]Books Once Sold cannot be Taken Back. ●Publishers Current Prices will be charged. ●Payment Should reach us within Credit Period.



Bill To

VYASARPADI

CHENNAI - 600 039

THE PRINCIPAL (EE/AMBED)

DR.AMBEDKAR GOVT. ARTS COLLEGE

Sri Eswar Enterprises MPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS
COMPUTER • SCIENTIFIC • TECHNICAL • MANAGEMENT
& LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennal - 600 017.
Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590
E-mail: yempeyes@mail.com / yempeyes@md3.vsnl.net.in
URL: http://www.eswar.com

INVOICE

13/12/21

Invoice No
Invoice Date

: EE/2021/CRB/236

Invoice Date : 11-Dec-21 Shipment Mode : By Hand Delivery

Ship To

NON-PLAN

THE PRINCIPAL DR.AMBEDKAR GOVT. ARTS COLLEGE VYASARPADI CHENNAI - 600 039

PRE-RECEIPTED

Notes

MSW - ORDERED BY MS. JENIFER - MOB#9884568044

The state of the s	ISBN/Code	Title	Author	Q	Curr	Price	Gross	Disc%	Disc Value	Value
27914.1	9788189059675	Annihilation of Caste The annotated Critical edition	AMBEDKAR	1	INR	499.00	499.00	15.00	74.85	424.15
27915.2	9789354493980	Assessment for Learning Linking Theory with Praxis	GANDHI	1	INR	429.00	429.00	15.00	64.35	364.65
27916.3	9789353503376	Behavior Modification Principles and Procedures 6/ed	MILTENBERGER	1	INR	1,295.00	1,295.00	15.00	194.25	1,100.75
27917.4	9789353503390	Career Counseling A Holistic Approach 9e	ZUNKER	1	INR	1,095.00	1,095.00	15.00	164.25	930.75
27918.5	9781259003127	Child development 13ed	SANTROCK	1	INR	875.00	875.00	15.00	131.25	743.75
27919.6	9789388028141	Childhood and Growing Up	MANGAL	1	INR	595.00	595.00	15.00	89.25	505.75
279207	9789353436926	Childhood To Adolescence Issues and Concerns	DEB	1	INR	400.00	400.00	15.00	60.00	340.00
279218	9788184652253	Corporates & Social Responsibility	AJITH	1	INR	150.00	150.00	15.00	22.50	127.50
279229	9780761959953	EMBODYING GENDER	HOWSON	1	UKP	25.99	2,783.53	15.00	417.53	2,366.00
2792310	9788131759530	Fundamentals of Social Psychology	BARON	1	INR	329.00	329.00	15.00	49.35	279.65
2792411	9789390325436	Gender A Sociological Understanding	BHATIA	1	INR	455.00	455.00	15.00	68.25	386.75
2792512	9789353388393	Gender, School and Society	KUMAR	1	INR	265.00	265.00	15.00	39.75	225.25
2792613	9789388028189	Learning and Teaching	MANGAL	1	INR	625.00	625.00	15.00	93.75	531.25
2792714	9781848728332	Managerial Ethics	SCHMINKE	1	INR	425.00	425.00	15.00	63.75	361.25
27928 15	9789353067236	Motivation in Education 4/ed	SCHUNK	1	INR	499.00	499.00	15.00	74.85	424.15
2792916	9789352697526	Multicultural Counselling	PUSKAR	1	INR	2,395.00	2,395.00	15.00	359.25	2,035.75



Sri Eswar Enterprises
IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS
COMPUTER • SCIENTIFIC • TECHNICAL • MANAGEMENT & LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennai - 600 017. Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590 E-mail: yempeyes@gmail.com/yempeyes@md3.vsnl.net.in URL: http://www.eswar.com

PRE-RECEIPTED **INVOICE**

Invoice No Invoice Date : EE/2021/CRB/236 : 11-Dec-21

Shipment Mode

: By Hand Delivery

Page No,2

SI No	ISBN/Code	Title	Author	Q	Curr	Price	Gross	Disc%	Disc Value	Value
27930 17	9781412928861	Researching Social Change	MCLEOD	1	INR	1,700.00	1,700.00	15.00	255.00	1,445.00
27931 18	9789352696789	Social Deviations and Social Work	SINGH	1	INR	1,895.00	1,895.00	15.00	284.25	1,610.75
2793219	9780761951643	SOCIAL THEORY AND HUMAN REALITY	ALASUUTARI	1	INR	1,995.00	1,995.00	15.00	299.25	1,695.75
27933 20	9789352697496	Social Thinking and Interpersonal Behavior	YADAV	1	INR	2,395.00	2,395.00	15.00	359.25	2,035.75
2793421	9789352696703	Social Work for Older and Sick People	SINGH	- 1	INR	1,895.00	1,895.00	15.00	284.25	1,610.75
	9789351381259	Sociological Thought	ABRAHAM	1	INR	295.00	295.00	15.00	44.25	250.75
	9788131767634	Teaching of Social Studies	PATHAK	1	INR	299.00	299.00	15.00	44.85	254.15
E & Oi			Total	23			23,588.53		3,538.28	20,050.25
				19.79	1			Le	ss - Round Off	50.25
Rec	eived Rupees Twenty	y Thousand Only.\							Net Value	20,000.00

Received Rupees Twenty Thousand Only.

Currency	Conv Rate
UKP	107.10

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

- 1. Goods once sold cannot be taken back (or) exchange
- 2. All our transactions & invoices are subject to Madras Jurisdiction.
- 3. OUR PAN No: AGPPP4660C

Packed By

Checked By



Sri Eswar Enterprises IMPORTERS, PUBLISHERS, DISTRIBUTORS & LIBRARY SUPPLIERS

COMPUTER . SCIENTIFIC . TECHNICAL . MANAGEMENT & LIFE SCIENCES BOOKS

'Archana Arcade', 27, Natesan Street, T.Nagar, Chennal - 600 017. Tel: 044 - 24345902, 24339591 Fax: 044 - 24339590 E-mail: yempeyes@gmail.com/yempeyes@md3.vsnl.net.in URL: http://www.eswar.com

PRE-RECEIPTED INVOICE

: EE/2021/CRB/238 **Invoice No**

Invoice Date : 11-Dec-21 **Shipment Mode**

: By Hand Delivery

NON-PLAN

BIII To

THE PRINCIPAL (EE/AMBED) DR.AMBEDKAR GOVT. ARTS COLLEGE VYASARPADI

CHENNAI - 600 039

Ship To

THE PRINCIPAL DR.AMBEDKAR GOVT. ARTS COLLEGE **VYASARPADI**

CHENNAI - 600 039

Notes

DEPT OF CSE - ORDERED GIVEN BY DR. G. SEKAR -

MOB#9443411979

SIN	o ISBN/Code	CHENNAI	- 600 039							
27937 1		Title	Author	Qty	Curr	Price	Gross	Disc%	Disc Value	Value
	9789386551832	21 IoT Experiments	KANETKAR	1	INR	360.00	360.00	15.00	54.00	306.00
27938 2	9788178740836	Computer Graphics	RATHI NARAYAN		INR					
279393	9789332518742	Computer Networks 5/ed	TANENBAUM	X130	40 931.3	145.00	145.00	15.00	21.75	123.25
27940.4	9789332585225	Cryptography and Network Security 7e	STALLINGS	4	INR	789.00	789.00	15.00	118.35	670.65
27941-425	9788131770610		STALLINGS	1	INR	749.00	749.00	15.00	112.35	636.65
27943-44.6		Effortless E-commerce With Php And Mysql	ULLMAN	2	INR	695.00	1,390.00	15.00	208.50	1,181.50
	9781259026843	ELECTRONIC COMMERCE 4ED	BHASKER	2	INR	870.00	1,740.00	15.00	261.00	
27945-46.7	9789332582705	Fundamentals of Database Systems 7ed	ELMASRI	2	INR	919.00	1,838.00			1,479.00
27947 8	9789388028028	Fundamentals of Software Engineering 5/ed	RAJIB MALL	,	INR			15.00	275.70	1,562.30
27948.9	9788131720318	It Essentials Pc Hardware & Software Labs And Study Guide		4		425.00	425.00	15.00	63.75	361.25
27949. 10	9788131704431	RAM	REGAN	1	INR	499.00	499.00	15.00	74.85	424.15
		Modern Wireless Communication	HAYKIN	1	INR	819.00	819.00	15.00	122.85	696.15
27950-51.11	9789332578210	Network Security: PRIVATE Communication in a PUBLIC	KAUFMAN	2	INR	725.00	1,450.00	15.00	217.50	1,232.50
27952 12	9789332502116	Practical Guide to Linux Commands, Editors, and Shell	SOBELL	1	INR	1,165.00	1,165.00	15.00		
27953, 13	9788131758366	Software Testing Techniques And Applications	KHANNUR	1	INR	425.00	425.00		174.75	990.25
E&0	E		Total	17				15.00	63.75	361.25
		_	rotai	.,			11,794.00		1,769.10	10,024.90
								- 1	ess - Round Off	24.90
Rei	ceived Rupees Ten Th	ousand Only.								

Received Rupees Ten Thousand Only.

for SRI ESWAR ENTERPRISES

Packed By

Checked By

Net Value

10,000.00

PRINTED BOOKS ARE EXEMPTED FROM (GST) GOODS & SERVICE TAXES

^{1.} Goods once sold cannot be taken back (or) exchange

^{2.} All our transactions & invoices are subject to Madras Jurisdiction.

^{3.} OUR PAN No: AGPPP4660C

BLose Migway

NON-PLAN

(Duplicate)

Pavai Publications, No 16 Jani Jan Khan Road, Royapettah. Chennai - 600 014

Invoice No.

Dated 100

13-Dec-2021 **Delivery Note** Mode/Terms of Payment

Supplier's Ref.

Other Reference(s)

Buyer

Principal, Dr.Ambedkar Govt.Arts College,

Buyer's Order No.

Dated

Despatch Document No.

Dated

Destination Compaction

Terms of Delivery

	De	escription of Goods	Quantity	Rate	per	Amount
27954 27968	-67 A1261 Sanga Elalk -76-A2669 Kambar Rai	nayanam 8 Volumes	1 Nos	5,600.00 6,500.00		5,600.00 6,500.00
		to the state of th	6 to 6.25 A 1	·		12,100.00
	Less:	Discount Rounded Off		(-)15	%	(-)1,815.00 (-)285.00
	Pavai Publ	ications				
	Bank:	SBI		4		
	A/c No :	SBI 10232921933 SBIN0000249				
	Brarch:	Triplicane.	7.5.0			
	Amount Chargeable (in	·······································	2 Nos			10,000.00
	Rs. Ten Thousand C	Only				E & O. E

We declare that this invoice shows the actual price of the goods described and that all particulars are true and correct.

This is a Computer Generated Invoice

for Payai Publications,

Authorised Signatory



Principal Dr. Ambedkar Govt. Arts College, Wasarpadi Chennal - 600 039